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QUESTION 1

A customer has an application that uses a small amount of capacity but has very high performance requirements. The
customer initially configured the LUNs using the Highest Available Tier option and now wants to configure the FAST VP
policy to ensure LUNSs allocated to this application always stay on higher performance storage.

What do you advise?

A. The policy should be set to Highest Available Tier.

B. Initially set the policy to Lowest Available Tier, then Auto-Tier.

C. The policy should always be set to Auto-Tier.

D. Initially set the policy to Highest Available Tier, then Auto-Tier.

Correct Answer: A

QUESTION 2

A VNX snapshot can have how many snapshots of the source LUN?
A. 256

B. 128

C. 384

D.8

Correct Answer: A

QUESTION 3

A SnapView snapshot can have how many snapshots of the source LUN?
A.8

B. 24

C. 128

D. 256

Correct Answer: A

QUESTION 4

What is the default port used for secure LDAP (LDAPS) communications on a VNX system?
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A. 389
B. 443
C. 563
D. 636

Correct Answer: D

QUESTION 5

What is a critical capacity consideration when configuring traditional RAID Groups on a VNX array?
A. Larger RAID 5 groups maximize the capacity available

B. Larger RAID 6 groups maximize the capacity available

C. Smaller RAID 6 groups maximize the capacity available

D. Smaller RAID 5 groups maximize the capacity available

Correct Answer: A
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